SECONDARY SCHOOL EXAMINATION — 2019 (ANNUAL)
Mode! Set (SCIENCE)
fasm=
Candidates are required to give their answer in their own words as far
as practicable.
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There are two section in this question paper. Section-A and
Section-B.
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Threr are 40 objective type questions in section ~'A’. Each
question carries one mark. All objective type questions are to be
answered on OMR sheet.

3. @us—q 1 oy S [ A I W E

Section-B, Consists of both short answer type questions and long

answer type questions.
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The number of short answer type question is twenty two (22). Out
of them, eight questions are from Physics, seven questions are
from Chemistry and seven questions are from Biology. Four
questions are to be answered from each subject (Physics,
Chemistry and Biology). Each short answer type question carries 2
marks.
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The number of long answer type questions is six (06) : two
questions each from Physics, Chemistry and Biology. Long answer
type questions from Physics carries 6 marks and from Chemistry
and Biology carries 5 marks each. Answer of one question from
Physics, Cherﬁistry and Biology is compulsory.
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Section A (Objective Type Question)
Preiifea TeRea vl 3 ¥ 8 e g1 | 40 X 1 = 40
Select the correct option for the given multiple choice questions.

1. ﬁmaﬁwwqﬁﬂqﬂmmmﬂ%?
A oad ST B. a/@dal I4vl
C. S TUU D. 37 & al

The focal length of which mirror is taken negative ?
A. Plane mirror B. Concave mirror
C. Convex mirror D. All of these

2. éaaﬁmqft(f)aﬂ?mﬁwm)ﬁmﬁa'a%?
A.f=R B.f=R/2
C.f=R/3; D.f=R/4

What is the relation between focal length (f) and radius of

curvature (R) of a lens?
A.f=R B.f=R/2

C.f=R/3 D.f=R/4



=1 3 fw Ay & sroaie oy @ 2
A. & B. oidt
C. 3frenr D. &

Which medium of the following has greater refractive index ?
A. Air B. Water

C. Glass D. Diamond

" gfte @ foy e gfte oY sreraw <@ @ -
A 25 H B. 25 ¥

C. 25 A& D. g9 &I1¥ T8

The least distance of distinct vision for the normal vision is -
A. 25m B. 25cm
C. 25mm D. None of these

vﬁammaﬁamﬁ@ﬁ)%ﬁﬁmﬁwﬁ%mm@m

gHar g ?
A 70 B. sfrarm
C. a1 D. e

Which colour of white light bends least when the light passes
through a prism ?

A. Violet B. Blue

C. Red D. Yellow



frpe—gfie 1 fou ofw @ S grr W fear o |ear g ?
A Jaad o9 B. St o
C. Rwiad o D. 79 & Wit

Myopia can be corrected by using -

A. Concave lens B. Convex lens

C. Bi-focal lens D. None of these

e ufoRerear AR avar @ —

A. TTEE B A48 TR B. A &1 Y PIC ATBA W

C. Trad & uarf @1 ygiy W D. 379 9§ ¥l W

The electrical resistivity of a conductor depends on -
A. length of a conductor

B. Cross-section Area of a conductor

C. Nature of a material of the conductor

D. All of these

feea wfdm &1 Sl 7w 2 -

A. dc B. @i /Her
C. gfie D. 3™

S| unit of electric power is -

A. Watt B. Watt/hour

C. Unit D. Ohm



10.

U gfe faga sof &1 39 & -
A. 3.6x10°J B. 3.6x10%

C. 3.6x10% D. 3.6x10°
The value of one unit electric energy is -

A. 3.6x10°J B. 3.6x10*
C. 3.6x10°J D. 3.6x10°%

3§ | - FUH WY T R 7

A. faga wiFa dga gRag R R S $Ral 8

B. faga Hiex figa ol at At ol § qeo 2|
C. gEaY 9 Y@ WRER Tel Predl 8|

D. &R g I aren ar yr: RS aR g 2 |

Which of the following statement is not correct ?

A. An electric generator works on the principle of electromagnetic

induction.

B. An electric motor converts electrical energy into mechanical

energy.
C. Lines of magnetic force do not intersect each-other

D. A wire with a green insulation is usually the live wire of an

electric supply.



11.

12.

AT & arrgva Fram F 9t 21 o1 qene gad R & —

A T WX RN faga 9a & R

B. ge@ &5 &1 fawn

C. =reid ¥ yarzd faga g o faam

D. g7 3 I¥

In Fleming's left-hand rule, Middle finger of the left hand indicates -
A. direction of electric force applied on a conductor

B. direction of the electric field.

C. direction of the flow of electric current

D. None of these

gad & HIaR geara &= YR o faem @ exfh & ?

A. STR 49 ¥ <fEior ga & sk

B. gférr ga | IR ¢ 3 3R

C. guag a3 Yaei ot R HlRea =8 2

D. g7 & 31 &

What is the direction of magnetic field lines inside a magnet ?

A. from North pole to south pole
B. from south pole to North pole
C. direction of magnetic field lines are not fixed.

D. None of these



13.

14.

15.

T SHuf & @i A d Sa-ar g ?
A Fgm B. wifegw
C. HrEq D. g% & w1

Which of the following is the nuclear energy source ?

A. Uranium B. Sodium

C. Carbon D. All of these
Bl gAT BT IARE O TTE ?

A. Ca(OH), B. CaO

C. CaCO3 D. Ca(HCO3),

What is chemical formula of quick lime?
A. Ca(OH); B. CaO
C. CaCOg D. Ca(HCO3),

ST @ de HuHed § Pols W HHA-WI I J& BT 8 ?
A. IlfEdre= B. ErggIoH
C. sifefior 3R gTEgoE a0 D. s

Which gas is released from the anode during electrolysis of water?
A. Oxygen B. Hydrogen

C. Both Hydrogen and Oxygen D. Ozone
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16.

17

18.

afen wrer @ vaEtRE @ 8 -

A. NaHCO; B. Na,CO310H,0
C. Ca(OH), D. CaCO;

The chemical formula for baking soda is -

A. NaHCO; B. Na,C0O310H,0
C. Ca(OH), D. CaCO;

#F—ar geref et foreHg U3 B A1 R a1 8 2
A 3 B. &R
C. &au D. g7 & g T8

Which substance changes the colour of blue litmus to red?
A. Acid B. Base
C. Salt D. None of these

e aife AT &1 pH 919 @ —
A 7 B 8
C. o D. 105

pH value of milk of magnesia is -

A7 B. 8

C.9 D. 105



19.

20.

21.

R § SF—ar g TS € ?
A amaifed B. Gomx
C. am = D. gafaas

Which one of the following non-metals is lustrous?
A. lodine B. Sulphur

C. Bromine D. Selenium
ﬁﬂﬁﬁzﬁﬁ—wu@mm—sﬁaé?

A. Al B. Na

C.Ca D. Mg

Which one of following metals is the most reactive?

A Al B. Na

C.Ca D. Mg
sﬁmﬁwwa?mﬂwmﬁsﬁ?ﬂﬁﬁmmsﬁﬁ%?
A 2 B. 6

C.3 D. 4

How many electrons are present in the outermost orbit of oxygen
atom?

A.2 B. 6

G 3 D. 4
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22.

23.

24,

SRA v TrEfe dfie @ Riae weafes EE § -
A. Traifaaierd 3 B. Ufceess
C. @A D. Y=piEte

Butanone is an organic compound whose functional group is -
A. Carboxylic Acid B. Aldehyde
C. Ketone D. Alcohol

W%ﬂm&ﬁ&ﬁaﬁ%ﬁﬁmmﬁ?
A. T& 3TEET B. fa amaw
C. f amay D. g ¥ 318 el

How many bonds are formed between two Nitrogen atoms ?

A. Single Bond B. Double Bond
C. Triple Bonds D. None of these
Ve BT AP YA & —

A. C.Hans2 B. CaHa2n

C. CyHan1 D. CH2n2

The general formula for an Alkenes is -

A. CnH2n¢2 B CnHzn

C. CnH2n-1 D. CnH2\-2
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25.

26.

27.

28.

amgfe aae W ¥ sras B HE § -

A 7 B. 8 .

C.o D. 18

The number of periods in the modern periodic table is -

A.7 B.8

C.9 D. 18
wﬁw@ﬁmﬁwmmﬁmqﬁaﬁﬂm%?
A. URAIY] HIES 9EqT & B. UvHIY] WIS Hedl 2 |
C. T Wrew SuRaRf g @ D ¥ 9 I

How does the atomic size vary in going down a group?

A. Atomic size increases. B. Atomic size decreases

C. Atomic size does not change D. None of these

P gAIEH THeIGa auT BT e HRal § 7

A. aftg B. feftas

C. i D. 3 & &g E
Which enzyme breaks down emulsified fat ?

A. Pepsin B. Trypsin

C. Lipase D. None of these

G Y Y ST BT § -

A. 80 mm B. 100 cm

C. 120 mm D. 130mm
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The normal systolic blood pressure is -

A. 80 mm B. 100 cm

C. 120 mm D. 130mm

gftrgl § WHTe WYY gRT &1 A Uy @ 3 aril H fue gy

YT I & —

A. SIEdH g B. ¥dITq gRT
C. 3 gRrT D g 4w+
The food manufactured in leaves during the process of

photosynthesis is transported from leaves to various parts of

plants by —
A. Xylem B. Phloem
C. Stomata D. All of these

I Gl BT ATH g1 T DA ERT HIfAD WaeE P wShRia wear 2|

A T B. @&
C. aM D. 3 & ¥

Name the plant which show vegetative propagation by grafting.
A. Wheat B. Rose

C. Paddy D. All of these
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31

32.

33.

Fre—oR e f5e Ao-e & SR BT B ?
A. roEIfeTy B. sreiferan
C. amfar D. T8 9§ &g T8

Kala-azar is caused by which micro-organism?
A. Plasmodium B. leishmania

C. Amoeba D. None of these

= A pia—ar faferft g & ?
A. e g B. dta! gw
C. udiar gy D. 374 & @13 78!

Which of the following is a bisexual flower?

A. Rose flower B. Pumpkin flower
C. Papaya flower D. None of these
ara | wrorTel Rerd g @ —

A. it § B. At #

C. &Ml D. 379 & |l ¥

The olfactory receptors in human are located in -
A. eyes B. nose

C. ear D. All of these
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34.

35,

36.

AR R 3 o Wes e e 2 & -
A. vl | B. figar A

C. U= 9 D. sraRass 9

All the voluntary actions of our body are controlled by

A. Cerebrum B. Medula

C. Pons D. Cerebellum
sigett ¥ gfE eri wnfda gar & -

A gy ufr | B. srgg ufr &

C. afgas A D. g8 & ®1§ 78l

In animals, growth hormone is secreted by

A. Pituitary gland B. Thyroid gland

C. Adrenal gland D. None of these
araRea @1 Rigld faa wfaurfea féar ?

A #Hza B. Tred SRfaw

C. WY % a9 D. 7% ¥ PIg 78l

Who proposed principle of heredity ?

A. Mendel B. Charls Darwin

C. Jagdish Chandra Bose D. None of these
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37.

38.

39.

ferait # forr T B & -
A XY B. XX

C. XY 3R XX gt D. 38 & B &

Sex chromosomes in female is -
A. XY B. XX
C. XY and XX both D. None of these

freg & § B9 o9 e saw @ ?
A @fes B. eHfdIa
C. urenef= D. feg 9w

Which one of the following is the bio-degradable waste ?
A. Plastic B. Thermocol
C. Polythene D. Tissue paper

HRR a7 WIS fhg W90 B Wd SUEY Qe § ?
A. W= U B. St oW
C. HERIS D. fagr

Which state has arrangement of ‘Ahars and pynes' for water

harvesting system?
A. Madhya Pradesh B. Uttar Pradesh

C. Maharashtra D. Bihar
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40.

yipfas SANHl @ Yeud @ forg wed Suged Rde fer § & 3 87
A. B IqAIT B. g1 =l

C. 4= I D. 3% & W+t

Which is the most suitable choice for management of natural

resources?
A. Reduce B. Recycle

C. Reuse D. All of these

17



Hvs—4 (Section-B)

iy axgfrs u¥ (Non-Objective Type Questions)
Aiftie wre (Physics)

oY IT8a 9 (Short Answer Type Questions)

Yo W 1 9 8 % oy St P B T 2| 3 9§ B 4w B 9w |
(15x2=30)
There are short answer type questions from question no. 1 to 8. Give answer

any four question out of eight short answer type questions. (15x2=30)

4 whTel B wNaes fam @) o 2
State the laws of reflection of light.

2 e <dv @ amar b= ) YW fiT @ ufafds @ forg v fawor ey
dha ik 39 yfafda B uHh, FER (F159) @ @ 6 ford | 2
Draw a ray diagram for image of an object placed at centre of
curvature of a concave mirror. Write the nature, size and position
of the image formed by the mirror.

3, YHTY BT GHIUE § AT FAT FHSK 82 TH U IATERYT Q@R WHHAN | 2
What do you mean by scattering of light? Explain it by giving an
example.

4. faga fvg &1 oRaia X &k gw@r S| 7= fod | 2

Define electric potential and write its Sl unit.

18



5. 20Q Witk @ ®E fga 3wl sA fea arr okfl 81 308 # S@H
a1 uRafera i | 2
An electric iron of resistance 20 €2 takes a current of 5A. Calculate
the heat developed in 30s.

6. &7 e & Y@ UEH-qER @ o 7l 7€l § 7 2
Why don’t two magnetic lines of force intersect each-other?

7. FdaoNy qer Fdiei St Sl A & sav ford | 2
Write the two differences between renewable and non-renewable
sources of energy.

8. g uRRYRY A wafi @ e gwq Fram & war fdar smar 87 2
In what conditions Fleming's right hand rule is used ?

@1ef 9o v (Long Answer Type Questions)
fdl TF ue @1 IR | 2+3+1=6

Answer any one question

9,

10.

wee Hfw | 399 gl T a1 HE 8?7 2+3+1=6
Explain the principle and working of an electric generator by

drawing a labelled diagram. What is the function of brushes.
(A) s @ 2 7 2+2+2=6

(B) ®fa & Roq & g1 UHavil y@drer & Sudc1 &1 fhvor s did |

19



(C) wyq geTel &7 a9l fAguT ¥ oy @ wAe | fow  wra wWagd
@ Tuit &Y B9 A ford |

(A) What is prism ?

(B) Draw a ray diagram of refraction of monochromatic light
through a glass prism.

(C) What do you mean by dispersion of white light. Write the order
of colours of spectrum obtained from a prism.

JETaE I (Chemistry)

" Sa9g 9 (Short Answer Type Questions)

Jo @ 11 @ 17 a% oY Sady e @ wed §) g 4 B 4 g B W

g |

(15x2=30)

Question no. 11 to 17 are short answer type questions. Give answer any four

question out of eight short answer type questions.

1

12.

(15x2=30)

ol vd HRE B dg 2R areh afifrar &1 g e S
ford | 2
Write a chemical equation of a reaction taking place between an

acid and a base.

SeTEd) affhar @ ATy T GHE & ? U SRl I | 2
What do you mean by exothermic reaction? Give an example.

20



13.

14

15.

16.

17.

pH &d @41 8 ? Ua I faaga &1 pH a9 ford | 2

What is a ph scale? Write pH value of a neutral solution.

Iugerd] sffaree @1 819 82 g1 SHI—HH! JiTaaTgS] BT SEIexv

AT | o
What are amphoteric oxides? Give two examples of amphoteric
oxides.

rafas el H TaiE 9 991 g @ ? 2

Why do ionic compounds have high melting points?

F1d9 ergaifeard CO, &1 geiaga fag dxa faam | 2
Show the electron dot structure of carbon dioxide (CO5)

P(15) 3R Ar(18) @1 geragia fa=arg ford | 2

Write down electronic configuration of P(15) and Ar (18).

<ref gadim uv (Long Answer Type Questions)

f=8f U uva & I < |

Answer any one question

18.

19.

grgelt & Wfoe ud Irafyes qor g9 S Ieerd B | 5
Describe the physical and chemical properties of metals

argfad amad AR § a1 GAESl, WA SR IR aifead vd
genfeas T o @Y gghy B wHd | 5
Explain the trends of valency, atomic size and metallic and non-

metallic characters of elements present in modern periodic table.
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siie fasm (Biology)

oY I 99 (Short Answer Type Questions)

TeT HE&T 20 ¥ 26 9P oY I DIfC B U &1 T 9 B 4 g 1 9w

% (15x2=30)

There are short answer type questions from question no. 20 to 26. Give

answer any four question out of eight short answer type questions.

(15x2=30)
20. (A) W &1 aEifea fom 1+1=2
Draw well labelled diagram of stomata.
(B) %1 &1 =0 &1 wT B ?
What is the main function of stomata?
21.  wfoeddt frar F #Rass & @ e 27 2

What is the role of brain in reflex action?
22. S0 vH0 Yo @ uRIEfY g o @ forq smavas @) 87
Why is copying of DNA is an essential part of the process of
reproduction ?
23 #F4 A ged &1 foi fFeRer &9 gar g ?
How is the sex of the child determined in human beings?

24, T BT & W9 3fe &7 fad =8l gar ?

What happens when the egg is not fertilized?
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05,  URda § HURTSH! @ @ yfFaT B 8 7
What is the role of decomposers in an ecosystem?

26. UG waeE W 39 F GHE 87

What do you mean by sustainable management?

2ref sada wea (Long Answer Type Questions)
fpl UH UeH @ JTR < |

Answer any one question

27, qaw] (Wr) B Avae Ud SRRl @1 ot B | 5
Describe the structure and functions of nephrons.

28, Wﬁa@mmwﬁ%ﬁﬂ@@gﬂ%ﬁﬁﬂwﬁa}
ar ¥ ford | 5
Draw a labelled diagram of the longitudinal section of a flower and

mention the different parts of the flower.



